:setMode(-1,mode)

]

transition

possibly
activated

transition

:setMode(old,mode)

L]

this:getMode(mode
guard mode>0

guard old>=0 :getMode(mode) simulation
] ] ] thread
iisldle()
1 0 this:getMode(mode)

guard mode<=0;

this:setMode(
mode,

o[ o0
idle 7

transition

transition
action
transition.search()

transition

transition
action binding=
transition.find()

[binding,transition]

[null,transition]
[binding,transition]

this:getMode(-1)

/2)"2)

| I
guard

binding | pinding!=null

binding
action
binding.execute()

gui
thread
:terminatedRun()
this: isIdIe()
‘terminateRun()
this:setMode(old,-1)
:stopRun() :stoppedRun()
this:setMode( this:isldle()
old,0)
:startRun()
this:setMode(old,2)
mutex
:step() :stepped()
this:setMode( this:isldle()
old,1)



